
11. (a) Rew rite the following Cagrment of code using the control structures below.

For count i to (C) DO
Begin

re.ad (count)

(i) While loop (4 marks)

(ii) Repeat Loop (4 marks)

(b Complete the follo\\ lug two sentences hr replacing the letters A. B. C C) and F ith the
appropriate prograiurmng terms.

Shadwax ne C) the program to see if it was gran.imatiealiy coreet, meanine no

_____

— errors that itdia what it was intended to do meaning noC) etmrs

tad that it produced some rest Its meaning no (B) errors If there were enors

he would then F) the umgram to locate and correct these errorn (5 marks)

Tll_R F F: ut the hal owing statements describe external aoeuitaeutauoit, ideut or toem and
wri.te theeorrespouding numbers in. your auswer booklet.

Dl: iuclndes freqaently asrked qnestious

D2’ flakes it e’asiea’ rta read aud uuderNtaud tiaeraroeraur

stales the ersiou ot the. roeneimurd the wta l*atiem oroeed:ure

D4: briggests bore users should use tire prog,ram s rich as: starting or ex.itiu the program

D5: Can of indentation. (2 marks)
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The responses in these to exemplars showed clearly that the candidates had a clear
understanding of this aspect of the ssllabus. The n crc therefore a arded full marks.

Comments

For Part (a), both candidates wrote programs which showed the correct use of the Loop
construcK namely

1. accurate initialization of ariahie
2. precise ioop condition
3. correct piacement of increment statement v ithn the loop.

For Part (c), external documentation n as accurately selected.
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